Chapter 10 FE EXAM FORMATTED PROBLEMS
10-1. 
Assuming the basic point source model applies (i.e. ignoring attenuation factors), at what distance is a 100dBA sound pressure level measured 2m from a source attenuated to 70 dBA?


Using Eq. 10-11
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10-2.
What sound power level results from combining the following three levels: 72dB, 88dB, 90dB?
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10-3.
Compute the mean sound pressure level of the following three readings; 36dBA, 70dBA, 83dBA.


Using Eq. 10-13
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10-4.
The noise levels outside a school should not exceed 70dBA. If the sound pressure level 5 m from the edge of a roadway is 80 dBA, what is the sound pressure level outside the school that is 30m from the edge of the roadway. Assume that the roadway is a continuous line source.

Using Eq. 10-21 for a line source
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